3.5 Systems of Equations Word Problems

Warm up
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4. State your solution in sentence form.

Problem 1: You are selling tickets for a high school basketball game. Student tickets cost $3 and

general admission tickets cost $5. You sell 350 tickets and collect $1450. How many of each type of
ticket did you sell2
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Problem 2: At an Italian bistro, the costs of 2 plates of spaghetti and 1 salad is $27.50. The cost for 4
plates of spaghetti and 3 salads is $59.50. Find the cost of a plate of spaghetti and a salad.
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Spagheth costs $11.5D
and Salad costg 8-SO.

Problem 3: Peggy walks at a rate of 2 miles per hour and jogs at a rate of 4 miles per hour. She
walked and jogged 3.4 miles in 1.2 hours. For how long did Peggy jog and for how long did she walk?
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